3-drive * FLAT Overview of Change Characteristics

»Data are actual measurements for operations using a Swift Sports engine. »*¢Wire Type beginning at 3% is for when bypassing device.
> Characteristics will differ slightly depending upon make and model of car.
W = For models with wire-type throttle nor = Standard Performance

Example of Changes in SPORTS Mode
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60 —F SP4 - 7 = Above + high throttle (degree of acceleration at around or above 35%)
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SP1 - 3 = Condition similar to wire throttle (degree of acceleration at app. 10 - 35%)
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Example of Changes in ECO Mode
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